@x+2x:5

@ 2x>2

@x+y=5—4x

® 5x-2

@ x+x°




H
el
65
olJ
o8

olig
Nfo

op

@D a=bOlHa+5=b+5
© a=bolHa-10=10-b
© a=0>b°|H —da=-4b

4b

® a=2b°]H 2

a=>b

B!

@ 3a=3b 9|

b—-10

S ¥ - 10
et

1o

5]

A 10

2]
=

[e]




540 44 vhzs tebd A

2

+1

X

1-1=2-1->=-=1
+ —>2
b-c

15 2x2=1x25x=2

2

bolHa-c

a=>5bo
X
1=2— =
+ —>2
a

)

=

RIANR N

b

(Hx =2
X
b 5

b




e A S a4l A2
® 3x+6-3x @ x*+1=-x
® 2x-1=3(x-1)-x (‘D)x—l—xE—i-?)zx2

xX+x+1=x
® 241

B

@6
@DxP+x+1=0
®2=0
@x+3=0
®@x2+1=0




o B 5202 A Uehd 2127

Fh&o] Zol7t x, Aol dol7} 5 9 HAZFE o] Hol 20
olct,

@® 2x+5=20 @ 2x-5=20 @ 2(x+5)=20

@ 2(x-5)=20 ®)5x = 20

ol

202 YetH ® 5x = 20 ©|t}.




T

Aax+2=4x-b 7} BE xof tg]

Fol ab O %k

S

o

6.

X

-

® 10

@ 8

@ -s

O -10




olJ
G
o

-1

St 7} x

N 7

Nfo

=~

0
o

1

HlFZ

ojn

@ x-1=2x-3

@ 2(x-1)

D 2x=5x-1

=X

@3x—|—4:1

® bx+4=6x-5

:

I I _
—
Il Il I

© 0 _I_‘_I.I_.
[l
BE ® - ® ®
Mok o B _of o
7 8 BLE &g
o G ok ok ok ook 7ok
L T | | |

TE R R T
PR MM MMM W N




o
oo
me
i
2
S
Fr
ftlo
e
o,
ot

NS &4 &

1o

Tlo

A

tlo

fiid

D 4x-3=5=4x=5+3
O x2=—x+4=>x+x=4+2
© T+2x=6-8x = 2x—8x—6+7

® -3x45=2x-3=>-3x-2x=-3-5

@ 9x+1=4x= 9x—4x=-1

cCt "
=

>
> 3E. ©

©7T+2x=6-8x=>2x+8x=6-7




Rl™

=1

-

ul
RO

3x—6=2x

3x—2x=6,x=6 °|t}.




10. @by 2oL 2D o ol grg ool

FHo ERo HAFHia 102 HSHH

5(3x — 1) = 4(1 - x) + 10 °]t}.

Z7N5HH 15x -5 =4 —4x+ 10

x 2 ZAT e HHo g ALFFO QO R o]
15x+4x=4+10+5

19x =19

o2bA] x =1 o]t}

2
oli
=
=)




@® -3x+5=2x-5 @4—3x:—2(x—2)—x
® 6-x=-+x @3x—5:3(x—2)+1

® 4(x+1)=-2

B

® -3x+5=2x-5
@4-3x=-2x+4-x,
4-3x=-3x+4
®6-—x=+x

@ 3x-5=3(x-2)+1,
3x—5=3x-6+1,
3x-5=3x-5

® 4(x+1) = -2,
dx+4=-2




12. x o] TS AP 6-x): (x+2) = 1:3 9 H7ka A 0,

@1 @ 2 ® 3 @ 4

B

x+2=3(6 - x)°lA
x+2=18-3x

4x =16

L x=4

at+b=>5
44+b=5
Lb=1




o 5 340 S7h 2L W, a o gk Fatelek

x x+1
—6: 5 _ — :1
ax xX+a 5 3

x x+1

LoXEL o el 68 Bt
3x—2(x+1) =6

3x—-2x-2=6

T x=28
x=8=2ax—6=x+a°f HYsHA
8a—6=8+a

Ta =14

L a=2




14.

ok WA FolA d7k e shik?

® 2x+4=0 @5—2x:2x—4
® 3x=x-4 @ 2(x-2)=x-6

® 3(x-2)=5x-2

B

D2x+4=0
2x = -4
Sox==2
@5-2x=2x-4
—2x—-2x=-4-5

—4x=-9

9
T
®3x=x-4
3x—x=-4
2x = -4
x=-2
@2(x-2)=x-6
2x—4=x-6
2x—x=-6+14
x=-2
®3(x-2)=5x-2
3x—6=5x-2
3x—5x=-2+4+6
-2x=4




mpag g X2 alx-1)

2

— 1987k x= 1 Y W, q o] FHL?

® 0 @1 ®

[S28 )




16. SAax-2=x+bo| 7t 7=

Da=1b=2

(@)azl,b:—2

® a=2,b=-2




